(Sr)/

5
50>=50 (15,15)
50

50*50
Agt_Init{
my.X =15 <X
my.Y =15 <Y
my .DIRECTION = 270 -
my.VAR_1 = 10 -
}
Agt_Step{
_forward(1)

my.VAR_1 = my.VAR_1 - 1

if my.VAR_1 == 0 then
_turn(-90)
my.VAR_1 = 10

end if

}

1HI(Gr) 2004

10

50

VAR_1

15
15
270
10

10
90
10
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VAR 2

Agt_Init{

my.X =15

my.Y =15
my_DIRECTION = 270
my_VAR_1 = 10

if rnd()<0.5 then

my.VAR_2 = -60
Else

my.VAR_2 = -90
end if
}
Agt_Step{
_forward(2)

my.VAR_1 = my.VAR_1 - 1

if my.VAR_1 == 0 then
_turn(my.VAR_2)
my_VAR_1 = 10
end if

<50

~10

10
10

60

90

90
60



50>=<50
40
80

(t

60
20

) 50>=<50

DIRECTION

(24,10)

_forward

10



